

Wigner's theorem in atomic L_p -spaces ($p > 0$)

By XUJIAN HUANG (Tianjin) and DONGNI TAN (Tianjin)

Abstract. We characterize mappings between real atomic L_p -spaces ($p > 0$) satisfying a certain pair of functional equations. An analogue of the real version of Wigner's theorem in real atomic L_p -spaces ($p > 0$) is presented.

1. Introduction

Wigner's theorem (sometimes called unitary-antiunitary theorem) plays a fundamental role in quantum mechanics and in representation theory in physics. There are several equivalent formulations of Wigner's theorem on symmetry transformations of quantum mechanics. In fact, Wigner himself did not give a rigorous mathematical proof. The first such proofs were given by BARGMAN [2] and LEMONT and MENDELSON [6] in the 1960's. In 1990, SHARMA and ALMEIDA [13] gave the formulation of Wigner's theorem by characterizing the bijections on a Hilbert space preserving the absolute value of the inner product of any pair of vectors. Recently, two elementary and short proofs for the non-bijective version of Wigner's theorem were given in [5] and [16]. Several other proofs were given for the bijective and non-bijective versions, see [4], [9], [10], [11] and [14], to list just some of them.

Let X and Y be normed spaces. A mapping $f : X \rightarrow Y$ is called an *isometry* if f satisfies

$$\|f(x) - f(y)\| = \|x - y\| \quad (x, y \in X).$$

Mathematics Subject Classification: Primary: 39B52; Secondary: 46B04.

Key words and phrases: Wigner's theorem, isometry, atomic L_p -space.

The second author is the corresponding author.

The classical MAZUR–ULAM theorem [8] states that every surjective isometry between two real normed spaces is affine. Also, BAKER [1] proved that every isometry of a real normed space into a strictly convex real normed space is affine without the onto assumption. Let us say that a mapping $f : X \rightarrow Y$ is phase equivalent to a linear isometry if there exists a function $\varepsilon : X \rightarrow \{-1, 1\}$ such that εf is a linear isometry. The famous Wigner's theorem characterizes the mappings that are phase equivalent to linear isometries on Hilbert spaces. That is, when X and Y are real Hilbert spaces, the phase isometries $f : X \rightarrow Y$ are precisely the solutions of the functional equation

$$|\langle f(x), f(y) \rangle| = |\langle x, y \rangle| \quad (x, y \in X). \quad (1)$$

We can easily see that, when X and Y are normed spaces, all mappings $f : X \rightarrow Y$ that are phase equivalent to real linear isometries are also solutions of the functional equation

$$\{\|f(x) + f(y)\|, \|f(x) - f(y)\|\} = \{\|x + y\|, \|x - y\|\} \quad (x, y \in X). \quad (2)$$

Thanks to Wigner's theorem, the converse also holds, provided that X, Y are real inner product spaces. Recently, G. MAKSA and Zs. PÁLES [7] gave a real version of Wigner's theorem by using the functional equation (2). At the end of their paper, Maksa and Páles posed the following question: What are the solutions $f : X \rightarrow Y$ of (2) when X and Y are normed but not necessarily inner product spaces? Under what conditions does it remain valid that, for the solutions of (2), εf is real linear for some function $\varepsilon : X \rightarrow \{-1, 1\}$?

In this paper, we show that the solutions of equation (2) are phase equivalent to real linear isometries, provided that X and Y are atomic L_p -spaces ($p > 0$). As a consequence, we partially answer the question raised by G. Maksa and Zs. Páles. It can be considered as a generalization of the famous Wigner theorem for atomic L_p -spaces ($p > 0$).

2. Results

Throughout this section, we consider the spaces all over the real field and denote by $\mathbb{R}$ the set of reals. This paper mainly discusses the atomic L_p -spaces on $\mathbb{R}$ with $p > 0$, $p \neq 2$. The spaces X and Y are used to denote such spaces unless otherwise stated. We use S_X and S_Y to denote the unit spheres of X and Y , respectively. Moreover, f denotes a mapping from X to Y . An atomic

L_p -space ($p > 0$) is linearly isometric to $l_p(\Gamma)$, where Γ is a nonempty index set. The atomic L_p -space is

$$l_p(\Gamma) = \left\{ x = \sum_{\gamma} \xi_{\gamma} e_{\gamma} : \|x\| = \left(\sum_{\gamma} |\xi_{\gamma}|^p \right)^{\frac{1}{p}} < \infty, \xi_{\gamma} \in \mathbb{R}, \gamma \in \Gamma \right\},$$

where $e_{\gamma} : \Gamma \rightarrow \mathbb{R}$ is the function for which $e_{\gamma}(\gamma) = 1$, $e_{\gamma}(\gamma') = 0$, $\forall \gamma' \in \Gamma$, $\gamma' \neq \gamma$. For every $x = \sum_{\gamma \in \Gamma} \xi_{\gamma} e_{\gamma} \in X$, we denote the support of x by Γ_x , i.e.,

$$\Gamma_x = \{\gamma \in \Gamma : \xi_{\gamma} \neq 0\}.$$

Then x can be rewritten in the form $x = \sum_{\gamma \in \Gamma_x} \xi_{\gamma} e_{\gamma} \in X$. For all $x, y \in l_p(\Gamma)$, if $\Gamma_x \cap \Gamma_y = \emptyset$, then we say that x is orthogonal to y and write $x \perp y$. It should be noted that $l_p(\Gamma)$ for $0 < p < 1$ is a quasi-normed space but not a normed space.

We now recall a well-known result from [12].

Lemma 2.1. *For any two real numbers ξ and η ,*

$$|\xi + \eta|^p + |\xi - \eta|^p = 2(|\xi|^p + |\eta|^p) \Leftrightarrow \xi \cdot \eta = 0, \quad p > 0, p \neq 2.$$

By this lemma, one can conclude the following result, the proof of which is obvious, and thus omitted.

Corollary 2.2. *Let $X = l_p(\Gamma)$ and $Y = l_p(\Delta)$, $p > 0$, $p \neq 2$. Suppose that $f : X \rightarrow Y$ is a mapping satisfying equation (2). Then for any $x, y \in X$, we have*

$$\|x + y\|^p + \|x - y\|^p = 2(\|x\|^p + \|y\|^p) \Leftrightarrow x \perp y \Leftrightarrow f(x) \perp f(y).$$

We also need the next statement, which follows from an inspection of the proof of [3, Lemma 5]. We give the details for the convenience of the readers.

Lemma 2.3. *Let $X = l_p(\Gamma)$ and $Y = l_p(\Delta)$, $p > 0$, $p \neq 2$. Suppose that $f : X \rightarrow Y$ is a surjective mapping satisfying equation (2). Then there is a bijection $\sigma : \Gamma \rightarrow \Delta$ such that $f(\lambda e_{\gamma}) = \pm \lambda e_{\sigma(\gamma)}$, for any $\lambda \in \mathbb{R}$.*

PROOF. Since f satisfies equation (2), putting $y = x$ implies that f is a norm preserving map, and putting $y = -x$, we have $f(-x) = \pm f(x)$, for all $x \in X$. Let $\gamma \in \Gamma$, and denote by $\Delta_{f(e_{\gamma})}$ the support of $f(e_{\gamma})$. For any $\lambda > 0$ and $\delta \in \Delta_{f(e_{\gamma})}$, we can find $x \in X$ such that $f(x) = \lambda e_{\delta}$ (so $\|x\| = \lambda$). For any $\gamma' \in \Gamma$ with $\gamma' \neq \gamma$, it follows from Corollary 2.2 that

$$f(e_{\gamma}) \perp f(e_{\gamma'}) \Rightarrow f(x) \perp f(e_{\gamma'}) \Rightarrow x \perp e_{\gamma'}.$$

This means $x = \pm \lambda e_\gamma$, and so $f(\lambda e_\gamma) = \pm \lambda e_\delta$, for any $\lambda > 0$. So $\Delta_{f(e_\gamma)}$ is a singleton. Now we define an injective mapping $\sigma : \Gamma \rightarrow \Delta$ by $\sigma(\gamma) = \delta$. We will show that σ is a surjective mapping. Suppose that, on the contrary, there is a $\delta_0 \in \Delta$ such that $\delta_0 \notin \sigma(\Gamma)$. As f is surjective, there exists $y \in X$ satisfying $f(y) = e_{\delta_0}$. Applying Corollary 2.2 again,

$$f(y) \perp f(e_\gamma) \Rightarrow y \perp e_\gamma, \quad \forall \gamma \in \Gamma.$$

So $y = 0$, which is a contradiction. $\square$

We will derive the representation theorem of the surjective mappings satisfying equation (2) between two atomic L_p -spaces ($p > 0, p \neq 2$) in the real case.

Lemma 2.4. *Let $X = l_p(\Gamma)$ and $Y = l_p(\Delta)$, $p > 0, p \neq 2$. Suppose that $f : X \rightarrow Y$ is a surjective mapping satisfying equation (2). Let $\sigma : \Gamma \rightarrow \Delta$ be the bijection from Lemma 2.3. Then for any element $x = \sum_{\gamma \in \Gamma} \xi_\gamma e_\gamma \in X$, we have $f(x) = \sum_{\gamma \in \Gamma} \eta_{\sigma(\gamma)} e_{\sigma(\gamma)}$, where $|\xi_\gamma| = |\eta_{\sigma(\gamma)}|$, for any $\gamma \in \Gamma$.*

PROOF. Note that since f has the norm preserving property, we get $f(0) = 0$. For any $0 \neq x \in X$, write $x = \|x\| \sum_{\gamma \in \Gamma_x} \xi_\gamma e_\gamma$, where $\sum_{\gamma \in \Gamma_x} |\xi_\gamma|^p = 1$ and $\xi_\gamma \neq 0$, for all $\gamma \in \Gamma_x$. We can see from Corollary 2.2 that $f(x) \perp f(e_{\gamma'})$, for any $\gamma' \notin \Gamma_x$. Then we can write $f(x) = \|x\| \sum_{\gamma \in \Gamma_x} \eta_{\sigma(\gamma)} e_{\sigma(\gamma)}$, where $\sum_{\gamma \in \Gamma_x} |\eta_{\sigma(\gamma)}|^p = 1$. For any $\gamma \in \Gamma_x$, we have

$$\begin{aligned} & \|f(x) + f(\|x\|e_\gamma)\|^p + \|f(x) - f(\|x\|e_\gamma)\|^p \\ &= \|x + \|x\|e_\gamma\|^p + \|x - \|x\|e_\gamma\|^p \\ &= \|x\|^p(1 - |\xi_\gamma|^p + |\xi_\gamma + 1|^p) + \|x\|^p(1 - |\xi_\gamma|^p + |\xi_\gamma - 1|^p) \\ &= \|x\|^p(|1 + \xi_\gamma|^p + |1 - \xi_\gamma|^p - 2|\xi_\gamma|^p + 2). \end{aligned}$$

On the other hand, since $f(\|x\|e_\gamma) = \pm \|x\|e_{\sigma(\gamma)}$ by Lemma 2.3, we have

$$\begin{aligned} & \|f(x) + f(\|x\|e_\gamma)\|^p + \|f(x) - f(\|x\|e_\gamma)\|^p \\ &= \|x\|^p(1 - |\eta_{\sigma(\gamma)}|^p + |\eta_{\sigma(\gamma)} + 1|^p) + \|x\|^p(1 - |\eta_{\sigma(\gamma)}|^p + |\eta_{\sigma(\gamma)} - 1|^p) \\ &= \|x\|^p(|1 + \eta_{\sigma(\gamma)}|^p + |1 - \eta_{\sigma(\gamma)}|^p - 2|\eta_{\sigma(\gamma)}|^p + 2). \end{aligned}$$

Combining the two equations, we obtain that

$$|1 + \xi_\gamma|^p + |1 - \xi_\gamma|^p - 2|\xi_\gamma|^p = |1 + \eta_{\sigma(\gamma)}|^p + |1 - \eta_{\sigma(\gamma)}|^p - 2|\eta_{\sigma(\gamma)}|^p,$$

for any $\gamma \in \Gamma_x$. It is well known that for any $s, r > 0$, if $0 < p < 1$, then $(s + r)^p < s^p + r^p$; if $p > 1$, then $(s + r)^p > s^p + r^p$. This implies that the function $\varphi(t) = (1 + t)^p + (1 - t)^p - 2t^p$ is strictly decreasing (increasing) on $[0, 1]$ for $0 < p < 2$ ($p > 2$). Thus $|\xi_\gamma| = |\eta_{\sigma(\gamma)}|$, for any $\gamma \in \Gamma_x$. $\square$

The next result shows that a mapping satisfying the functional equation (2) has a property close to linearity.

Lemma 2.5. *Let $X = l_p(\Gamma)$ and $Y = l_p(\Delta)$, $p > 0$, $p \neq 2$. Suppose that $f : X \rightarrow Y$ is a surjective mapping satisfying equation (2). Then*

- (a) $f(\lambda x) = \pm \lambda f(x)$, for every $x \in X$, $\lambda \in \mathbb{R}$;
- (b) for all nonzero orthogonal vectors x and y in X , there exist two real numbers α and β with absolute value 1 such that

$$f(x + y) = \alpha f(x) + \beta f(y).$$

PROOF. (a) Since f is a norm preserving map and $f(-x) = \pm f(x)$ for all $x \in X$, we can assume that $0 \neq x \in X$ and $\lambda > 0$. We write $x = \sum_{\gamma \in \Gamma_x} \|x\| \xi_\gamma e_\gamma$, where $\sum_{\gamma \in \Gamma_x} |\xi_\gamma|^p = 1$ and $\xi_\gamma \neq 0$, for all $\gamma \in \Gamma_x$. Suppose that $\sigma : \Gamma \rightarrow \Delta$ is the bijection from Lemma 2.3. By Lemma 2.4 and using the norm preserving property, we write

$$f(x) = \|x\| \sum_{\gamma \in \Gamma_x} \xi'_{\sigma(\gamma)} e_{\sigma(\gamma)}, \quad f(\lambda x) = \|x\| \sum_{\gamma \in \Gamma_x} \lambda \xi''_{\sigma(\gamma)} e_{\sigma(\gamma)},$$

where $|\xi'_{\sigma(\gamma)}| = |\xi''_{\sigma(\gamma)}| = |\xi_\gamma|$, for any $\gamma \in \Gamma_x$. Apply equation (2) to obtain that

$$\begin{aligned} & \{(1 + \lambda)^p \|x\|^p, |1 - \lambda|^p \|x\|^p\} \\ &= \{\|f(x) + f(\lambda x)\|^p, \|f(x) - f(\lambda x)\|^p\} \\ &= \{\|x\|^p \sum_{\gamma \in \Gamma_x} |\xi'_{\sigma(\gamma)} + \lambda \xi''_{\sigma(\gamma)}|^p, \|x\|^p \sum_{\gamma \in \Gamma_x} |\xi'_{\sigma(\gamma)} - \lambda \xi''_{\sigma(\gamma)}|^p\}. \end{aligned}$$

This implies that

$$\{(1 + \lambda)^p, |1 - \lambda|^p\} = \left\{ \sum_{\gamma \in \Gamma_x} |\xi'_{\sigma(\gamma)} + \lambda \xi''_{\sigma(\gamma)}|^p, \sum_{\gamma \in \Gamma_x} |\xi'_{\sigma(\gamma)} - \lambda \xi''_{\sigma(\gamma)}|^p \right\}. \quad (3)$$

Notice that $\sum_{\gamma \in \Gamma_x} |\xi_\gamma|^p = 1$ and $|\xi'_{\sigma(\gamma)}| = |\xi''_{\sigma(\gamma)}| = |\xi_\gamma|$, for any $\gamma \in \Gamma_x$. We deduce from this and equation (3) that $\xi'_{\sigma(\gamma)}/\xi''_{\sigma(\gamma)} = 1$, for all $\gamma \in \Gamma_x$, or $\xi'_{\sigma(\gamma)}/\xi''_{\sigma(\gamma)} = -1$, for all $\gamma \in \Gamma_x$. Thus $f(\lambda x) = \pm \lambda f(x)$.

(b) Let x and y be nonzero orthogonal vectors in X such that $x = \sum_{\gamma \in \Gamma_x} \xi_\gamma e_\gamma$ and $y = \sum_{\gamma \in \Gamma_y} \eta_\gamma e_\gamma$. We write

$$\begin{aligned} f(x) &= \sum_{\gamma \in \Gamma_x} \xi'_{\sigma(\gamma)} e_{\sigma(\gamma)}, & f(y) &= \sum_{\gamma \in \Gamma_y} \eta'_{\sigma(\gamma)} e_{\sigma(\gamma)}, \\ f(x + y) &= \sum_{\gamma \in \Gamma_x} \xi''_{\sigma(\gamma)} e_{\sigma(\gamma)} + \sum_{\gamma \in \Gamma_y} \eta''_{\sigma(\gamma)} e_{\sigma(\gamma)}, \end{aligned}$$

where $|\xi'_{\sigma(\gamma)}| = |\xi''_{\sigma(\gamma)}| = |\xi_\gamma|$ and $|\eta'_{\sigma(\gamma)}| = |\eta''_{\sigma(\gamma)}| = |\eta_\gamma|$, for any $\gamma \in \Gamma_x \cup \Gamma_y$. We infer from equation (2) that

$$\begin{aligned} & \left\{ \sum_{\gamma \in \Gamma_x} |\xi''_{\sigma(\gamma)} + \xi'_{\sigma(\gamma)}|^p + \|y\|^p, \sum_{\gamma \in \Gamma_x} |\xi''_{\sigma(\gamma)} - \xi'_{\sigma(\gamma)}|^p + \|y\|^p \right\} \\ &= \{\|f(x+y) + f(x)\|^p, \|f(x+y) - f(x)\|^p\} \\ &= \{\|2x+y\|^p, \|y\|^p\} = \{\|2x\|^p + \|y\|^p, \|y\|^p\}. \end{aligned}$$

It follows that $\xi''_{\sigma(\gamma)} + \xi'_{\sigma(\gamma)} = 0$, for all $\gamma \in \Gamma_x$, or $\xi''_{\sigma(\gamma)} - \xi'_{\sigma(\gamma)} = 0$, for all $\gamma \in \Gamma_x$. This implies that $\sum_{\gamma \in \Gamma_x} \xi''_{\sigma(\gamma)} e_{\sigma(\gamma)} = \pm f(x)$, and similarly, $\sum_{\gamma \in \Gamma_y} \eta''_{\sigma(\gamma)} e_{\sigma(\gamma)} = \pm f(y)$. The proof is complete. $\square$

Theorem 2.6. *Let $X = l_p(\Gamma)$ and $Y = l_p(\Delta)$, $p > 0$. Suppose that $f : X \rightarrow Y$ is a surjective mapping satisfying equation (2). Then f is phase equivalent to a linear isometry.*

PROOF. Wigner's theorem proves the case $p = 2$. We need only consider the case $p > 0$, $p \neq 2$. By the axiom of choice, there is a set $L \subset X$ such that for any $0 \neq x \in X$, there exists exactly one element $y \in L$ such that $x = \lambda y$ for some $\lambda \in \mathbb{R}$. We define $f_0 : X \rightarrow Y$ by $f_0(0) = 0$ and

$$f_0(x) = f_0(\lambda y) = \lambda f(y), \quad \forall x = \lambda y \in X.$$

Now f_0 is well-defined, homogeneous and phase equivalent to f by Lemma 2.5. Therefore, we may assume that f is homogeneous. Fix $\gamma_0 \in \Gamma$, and let $Z := \{x \in X : x \perp e_{\gamma_0}\}$. By Lemma 2.5, we can write

$$f(z + e_{\gamma_0}) = \alpha(z)f(z) + \beta(z)f(e_{\gamma_0}), \quad |\alpha(z)| = |\beta(z)| = 1,$$

for any $z \in Z$. Since f is homogeneous,

$$f(z + \lambda e_{\gamma_0}) = \lambda f\left(\frac{z}{\lambda} + e_{\gamma_0}\right) = \alpha\left(\frac{z}{\lambda}\right)f(z) + \beta\left(\frac{z}{\lambda}\right)\lambda f(e_{\gamma_0}).$$

Define a mapping $g : X \rightarrow Y$ as follows:

$$g(z) = \alpha(z)\beta(z)f(z), \quad g(z + \lambda e_{\gamma_0}) = \alpha\left(\frac{z}{\lambda}\right)\beta\left(\frac{z}{\lambda}\right)f(z) + \lambda f(e_{\gamma_0}),$$

for all $z \in Z$ and $0 \neq \lambda \in \mathbb{R}$. Then g is phase equivalent to f . Hence g satisfies the functional equation (2). For any $z \in Z$ and $0 \neq \lambda \in \mathbb{R}$,

$$\begin{aligned}
& \{ |1 + \lambda|^p \|z\|^p + 2^p, |1 - \lambda|^p \|z\|^p \} \\
&= \{ \|g(z + e_{\gamma_0}) + g(\lambda z + e_{\gamma_0})\|^p, \|g(z + e_{\gamma_0}) - g(\lambda z + e_{\gamma_0})\|^p \} \\
&= \{ \|g(z) + g(\lambda z)\|^p + 2^p, \|g(z) - g(\lambda z)\|^p \} \\
&= \{ |\alpha(z)\beta(z) + \lambda\alpha(\lambda z)\beta(\lambda z)|^p \|z\|^p + 2^p, |\alpha(z)\beta(z) - \lambda\alpha(\lambda z)\beta(\lambda z)|^p \|z\|^p \}.
\end{aligned}$$

It follows that $\alpha(z)\beta(z) = \alpha(\lambda z)\beta(\lambda z)$, for all $0 \neq z \in Z$ and $0 \neq \lambda \in \mathbb{R}$. This implies that

$$g(z + \lambda e_{\gamma_0}) = g(z) + \lambda f(e_{\gamma_0}),$$

for all $z \in Z$ and $\lambda \in \mathbb{R}$. Therefore, g is a surjective mapping, since g is homogeneous by the above. On the other hand,

$$\{\|g(x) + g(y)\|^p, \|g(x) - g(y)\|^p\} = \{\|x + y\|^p, \|x - y\|^p\},$$

and

$$\begin{aligned}
& \{\|g(x + e_{\gamma_0}) + g(y + e_{\gamma_0})\|^p, \|g(x + e_{\gamma_0}) - g(y + e_{\gamma_0})\|^p\} \\
&= \{\|g(x) + g(y)\|^p + 2^p, \|g(x) - g(y)\|^p\} = \{\|x + y\|^p + 2^p, \|x - y\|^p\},
\end{aligned}$$

for all $x, y \in Z$. It follows that $\|g(x) - g(y)\| = \|x - y\|$, for all $x, y \in Z$, and so g is an isometry from X onto Y . In the case of $p \geq 1$, the Mazur–Ulam theorem proves that g is a linear isometry. If $0 < p < 1$, then by the result of [15, Corollary 2.6], we obtain that g is a linear isometry. $\square$

ACKNOWLEDGEMENTS. The authors wish to express their appreciation to PROFESSOR GUANGGUI DING for several valuable comments. The authors are supported by the Natural Science Foundation of China, Grant Nos. 11371201, 11201337, 11201338, 11301384).

References

- [1] J. A. BAKER, Isometries in normed spaces, *Amer. Math. Monthly* **78** (1971), 655–658.
- [2] V. BARGMANN, Note on Wigner's theorem on symmetry operations, *J. Mathematical Phys.* **5** (1964), 862–868.
- [3] G. G. DING, The isometric extension problem in the unit spheres of $l_p(\Gamma)$ ($p > 1$) type spaces, *Sci. China Ser. A* **46** (2003), 333–338.
- [4] GY. P. GEHÉR, An elementary proof for the non-bijective version of Wigner's theorem, *Phys. Lett. A* **378** (2014), 2054–2057.

- [5] M. GYÖRY, A new proof of Wigner's theorem, *Rep. Math. Phys.* **54** (2004), 159–167.
- [6] J. S. LOMONT and P. MENDELSON, The Wigner unitarity-antiunitarity theorem, *Ann. of Math. (2)* **78** (1963), 548–559.
- [7] G. MAKSA and ZS. PÁLES, Wigner's theorem revisited, *Publ. Math. Debrecen* **81** (2012), 243–249.
- [8] S. MAZUR and S. ULAM, Sur les transformations isométriques d'espaces vectoriels normés, *C. R. Acad. Sci. Paris Sér. I Math.* **194** (1932), 946–948.
- [9] L. MOLNÁR, Orthogonality preserving transformations on indefinite inner product spaces: generalization of Uhlhorn's version of Wigner's theorem, *J. Funct. Anal.* **194** (2002), 248–262.
- [10] A. MOUCHET, An alternative proof of Wigner theorem on quantum transformations based on elementary complex analysis, *Phys. Lett. A* **377** (2013), 2709–2711.
- [11] J. RÄTZ, On Wigner's theorem: remarks, complements, comments, and corollaries, *Aequationes Math.* **52** (1996), 1–9.
- [12] H. L. ROYDEN, Real Analysis, Second Edition, *Macmillan, New York*, 1968.
- [13] C. S. SHARMA and D. F. ALMEIDA, A direct proof of Wigner's theorem on maps which preserve transition probabilities between pure states of quantum systems, *Ann. Physics* **197** (1990), 300–309.
- [14] R. SIMON, N. MUKUNDA, S. CHATURVEDI and V. SRINIVASAN, Two elementary proofs of the Wigner theorem on symmetry in quantum mechanics, *Phys. Lett. A* **372** (2008), 6847–6852.
- [15] D.-N. TAN, Nonexpansive mappings and expansive mappings on the unit spheres of some F -spaces, *Bull. Aust. Math. Soc.* **82** (2010), 22–30.
- [16] A. TURNŠEK, A variant of Wigner's functional equation, *Aequationes Math.* **89** (2015), 949–956.

XUJIAN HUANG
 DEPARTMENT OF MATHEMATICS
 TIANJIN UNIVERSITY OF TECHNOLOGY
 300384 TIANJIN
 CHINA

E-mail: huangxujian86@sina.cn

DONGNI TAN
 DEPARTMENT OF MATHEMATICS
 TIANJIN UNIVERSITY OF TECHNOLOGY
 300384 TIANJIN
 CHINA

E-mail: tandongni0608@sina.cn

(Received April 16, 2017; revised June 13, 2017)